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QUESTION 1

A customer is planning a large consolidation project of multiple System z servers and numerous distributed servers.
Which method is appropriate to perform a capacity planning and a TCO analysis for the consolidation?

A. RACEv tool to perform an in depth analysis of the environment

B. Rule of thumb (ten x86 processors = 1 IFL, 3 Power CPUs = 1IFL)

C. Scorpion study to perform an in depth analysis of the environment

D. Commercial benchmark results to estimate the hardware capacity and the BVAT for the TCO

Correct Answer: C

QUESTION 2

A customer is migrating to z114 and z/VM V6.1. The existing z9 BC will be used as cold standby system in a separate
datacenter. Which of the following is correct?

A. In order to run all guests on the z9 BC both, z9 BC and z114, have to run z/VM V6.1
B. The latest version of z/VM supported on z9 BC is z/VM V5.4. However the guests stay compatible.
C. In order to keep z/VM guests both systems (z114 and z9 BC) need to run z/VM V5.4,

D. The customer has to run z/VM V6.1 as a second level guest on the z9 BC z/VM V5.4The customer has to run z/VM
V6.1 as a second level guest on the z9 BC? z/VM V5.4

Correct Answer: B

QUESTION 3

z196 has better performance than z10 EC. Which of the following is the reason?
A. RAIM memory

B. Additional Cryptographic algorithm

C. More I/O bandwidth

D. Faster processor speed

Correct Answer: D
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QUESTION 4

A customer has a Power with AIX server farm with network connectivity to a zEnterprise processor. Which of the
following would represent a potential zBX opportunity for this customer?

A. The customer wants to accelerate certain DB2 on zEnterprise queries.
B. The customer wants to accelerate their DB2 on Power with AIX.
C. The customer wants a stand-alone zBX with Power blades to free up floor space.

D. The customer wants to move Linux virtual machines from the zEnterprise to a zBX so that the Linux applications can
be closer to a Smart

Correct Answer: A

QUESTION 5

Which of the following best describes zEnterprise architectural advantages?
A. A System of Systems consisting of multiple architectures

B. A centralized shared everything z/Architecture

C. Shared nothing architecture

D. Includes all IBM servers and storage systems

Correct Answer: A
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